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Reg. No.

VI Semester B.Com. Degree Examination, Septe'm ber - 2021
COMMERCE e
BUSINESS TAXATION
(CBCS Scheme) (F + R)
Elective Paper - 111

Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:

1)  Answers should be written either in English or in Kannada .

SECTION-A
NN - @

Answer any Five sub-questions. Each sub-question carries Two marks. (5%2=10)
CERFTRTTR W VBT, IR0 QuZdR. T8 LVTBIN 2 e50Bnich.

1. a)
b)
c)

d)

2

What is customs duty ?
ESEOT BIOT OWTERD ?
What is TDS ?

TDS 2o0@desd 9

Expand AMT and MAT.
DFOY AMT 2020 MAT.
What is an Indian Company ?
2I908e03) FOTRN Q0TTERD ?

. Give any two examples of company in Which‘public are substantially interested.

FREETITO NEFVEOT AT BROOTI TOTING QTR VT SRE.
Mention any two features of partnership firm.

TOLOWIOT xox; O TR VTNV, PR

What is payment of advance tax ?

TWIOONT 50D ZON DOTTERD 9

[P.T.O.
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SECTION-B
NN - D

Answer any Three questions. Each question carries 6 marks. (3%x6=18)
C3RTTRTETR B F,ZNOT LUB0R. I8 BIN 6 BoIND.

2.  State whether the following are admissable or inadmissable expenses under the provisions
of IT Act; for income from business.
303 07 5050 59T T BHTOOT WA STHODTY, BoRWLR0TON B3 FENI
TORSNTO B33 LD WIS 00ENPE ROT0 EPA.

a)  Sales tax paid during the year 15,000.
T3 SRFTE, AP0 307 38330 T 15,000.

b).  Donation to political party ¥ 10,000.
Do8e0D ﬁiﬁt Seesn < 10,000.

¢) Loss due to theft T 20,000.
ﬁ%@ﬁ@od LTN Efﬁa? 20,000.

d) Income-Tax paid¥20,000.
57303 o7t T80 X 20,000.

e) Life Insurance premium paid < 5,000.
BRI 2620080 FIF T 5,000,

f)  Discountallowed < 3,000.
_ dodncnd derw) X 3,000.
3.  Mr. Kiran has estimated the following income for the financial year 2019-20.
a) Taxable income from house property - 75,000.
b) Computed income from profession - 7, 07,500.
¢) = Dividend from Indian company < 10,000.
Determine the advance tax payable.

$,¢ $055° 00 Socd SRE 2019 - 20 B L0TR TREEHT BTN &S
2)  SOBCD BT IPO,T i, Swecd < 75,000.
b) 530007 NPAT Hweod BoRHBOW X 7, 07.500.
C) TS0 FoTAOWOT BVET So0od T 10,000.
TORERLICTIT FOONE LTI SONOIT, FOWIHEOWO.




(E (3) 13625

4.

Write short notes on -

a)  Anti-dumping duty.
b)  Safe-guard duty.
8363 WTWO.

a) BReD BoLOTY ROCT
b) Teme x0T

Calculate allowable remuneration to the working partners from the following data:

a)
b)
c)
d

Net profit as per profit & loss account - ¥ 1,353,000
Salary to partners - ¥ 1,25,000

Commission to partners - ¥ 1,00,000

Bonus to partners - T 25,000

TLOTITON BRTWTITIT BOYRBSORY, &1 IPNT DBCNRYOT FOROEHROWD.

a)
b)

.C)

d)

20?33%3 Y3, emzjﬁagd agoow < 1,35,000
TWOLVTWTT B¢ < 1,25,000
TOEVTTITON BT Towms T 1,00,000
B35 ae@icbd ToeoTesdn < 25,000

A block of asset consist of 5 machines. The WDV of machinery as on 1-4-2019 is ¥ 1,80,000.
Rate of depreciation is 15%. A new machine costing ¥ 1.60,000 was acquired in May 2019
but actually put to use only on 10-10-2019. Two old machines are sold for 3,20,000.

Determine amount of depreciation for the A.Y. 2020-21.

20T WRFIY, 5 0008, Rh 2.8rie0REE. 1-4-2019 Somd odos,ng WDV T 1,80,000 3339
TT Ze. 15 20 2019 Tomd .0m TR 03003, S0edFLNGDY, 33 3 I 1,60,000
B0T ST, YuTedReNTELD 9,003 BT90% 10-10-2019. 2 ¢ e, neEy X 3,20,000
ﬁd ST SRTWURNEY. A.Y. 2020-21 ‘u’; AT @aﬁ:asaﬁa‘% QDAL

[P.T.O.
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SECTION - C

RN —
Answer any Three questions. Each ques’aon carries 14 marks. (3x14=4:
CIREYREdR BRTY TINOR 8ok, BE T3 14 sosnsh. '

7. Compute Assessable value and customs duty payable from the following information.
a) FOB value of Machine Imported - 8,000 UK Pounds.
b)  Air Freight Paid - 2,500 UK Pound.
¢)  Design and Development charges paid in UK - 500 UK Pound.
. d)  Commission payable to local agent in Indian Rupees - ¥ 10,880.
¢) Rateof BCD-15%
f)  Exchange rate notified by CBEC - ¥ 68 = 1 UK Pound.
g) Insurance charges paid but details not available.
h) [IGSTat18%
1)  Social welfare cess applicable at 10%

B3 TEFOB DPTNPOT SONNRYBERIWIITT =P, T8 BT AOOTERY, TOBIELLOWD.
a) 05008, FOB &5Pe) 8,000 030.3. sRoonsd.

b) =ocdw s ﬁz& T30 2,500 030.3. Row.

c) WA sarzb S, @o:b ms 0320.3.8Q Be3zm) 500 0300.8. &R0wD.

d wmdﬁé dfaeﬁef a:amoéSﬁ dfa"'aoamde;ﬁ iraagdc% < 10,880.

€) RO ST AT 15%

f) 2o ©S CBEC and@ T 68 =1 UK Pound.

g) B DDF BRI BT D[TN E90Y,

h) IGSTod 18%

i) =~o=unwss um‘ssa AxF - 3e. 10 Do emod.

8.  From the following details compute TDS amount for each transaction.
a)  Dividend from unlisted company -¥ 5,000.
b)  Winnings from horse race - % 20,000.
¢) Insurance commission earned by agent - ¥ 18,000.
d) Interest on post-office deposits - ¥ 12,000.
e) Real estate brokerage - T 24,000.
f)  LIC maturity amount on policy - ¥ 10,00,000.
g) Interest on securities (gross) ¥ 15,000.



(AR AR A ®)

39507 QRORT0n TDS Hegnry, 1.8 Bemotonen 30meEee0.
a) W8 BREE ToBUOD w9303 - T 5.000.

b) a}wod‘ Ger's rensy - < 20,000.

c) QR BT, DCRINLAT - T 18.000.

d) 028 F3e00d Semedonod wzrécs Wa - 3 12,000,

e) OoDY* e’ TR - 3 24,000.

f) aﬁeﬁaﬁ,wocs 20T Fo2300Es ®ew - X 10,00,000.

g ABR0unY oed we (Fpp) < 15,000.

13625

9. Compute ‘taxable i income of szay Ltd. for the A.Y. 2020-21, from the information given

below-
Profit and Loss Account
N

Salaries to staff ' 1,00,000 Gross Profit
Insurance on stock 25,000 LICG
General charges 25,000 Interest
General Reserve 25,000
Interest on Loan : 40,000
Provision tor IT 2.10.060
Net Profit 1.00,000

5.25.000

Additional Information: .
1)  The amount of interest is for Government Securities.
2)  The depreciation admissable under IT Act is T 15,000.

<
5,00,000
20,000
5,000

5.25.000

3)  General charges include X 2000 for office rent, T 3,000 bonus to staff and ¥ 1,000

for donation given NDF.

TPFOB DBODNOOT W&odF ©. T 23, eﬁmojma‘_g{ TOTIGECD.

ooy S, 2003
3

AR) 00 ACLFTED - 1,00,000 :i%e_n Y
RTB W0 25,000 LTCG
TOTIT, S0IDF LD 25,000  wanw
ma’maﬁ SNERED 25,000
OB 0S8 1E, 40,000
20T o1 A 2,10,000
R o 1.00,000

5,25,000

<
5,00,000
20,000
5.000

5,25.,000

[P.T.O.
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10.

930 W&k :
) w@nw, Jerss RBR,0LNT0T NPT,
2) ook 3o E';Dodooda %590 AnErodn T 15,000.

3) @33 WYY, T 2000 B3¢0 &R, T 3,000 Nuoao:b Breax mone T 1,000
NDF i 2¢ea3w deﬁﬁoﬁam ACOREDAT.

P, Q and R are working partners in a firm sharmg proﬁtq & losses in the ratio of 3:2:1. The
profit and loss account is as under -

Profit & Loss Account for the year ended 31-3-2020

< ' 4
Purchases 7.50,000 Sales 16,70,000
Interest to partners- LTCG 4,90,000
P @ 20% 30,000 Interest on debentures 40,000
Q@22% | 2,20,000  Sundry receipts 20,000
R @ 20% 70,000 '
Miscellaneous Expenses 4,80.000
Depreciation 1,80,000
remuneration to
Partners - P . - 1,02,000
Q 60,000
R 72,000
Net profit 2,56,000
22.20,000 22.20.000

Additional Information: .
a)  Admissable depreciation according to IT provisions T 96,000.

b)  Miscellaneous expenses include T 82,000 as inadmissable and T 60,000 as donation
given to approved charitable trust.

Compute total income and tax liability of the partnership firm.
, B, SR 30° TWaLNTIOT, T 07 Q:‘o @ntA) STHNTTY, 3:2:1 e0TBTE,

E

53
Golers &a@%—aﬁ. BB T F20F AT —awmdo“mﬁ% =0 _ma;so‘a%d 3098 &3 IF0ROS VT,
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11.

() 13625
ootd S, a3 31-3-2020
' < - ' 4
DT 7,50,000 Rnosene 16,70.000
TIDROTITON WG LTCG 4,90,000
P 3¢ 20% 30,000  @edonony e 40,000
Q 3¢ 22% 2,20,000 933 smand 20,000
R 3¢ 20% 70,000 '
23 Segrietd ©4,80,000
Te330 1,80,000
TILOWITON FOLTTS
P . 1,02,000
Q 60,000
R 72,000
DR oy 2,56,000 |
22.20,000 22.20.000
033 SRS :

a) &mod 30K T B,50 AT AT Favewodn T 96,000. : .
b) T e 82,000 SIS 302 760,000 H@Kbq OTRRCDT Fez :u‘o,‘:;pﬁ weesn
REORING.
TOLOTIOT xoﬁ@ o:’o WD B0 R TmEHLIETI S0 é@ﬁcﬁaﬁg{ FOROLEROND.

Sun Co. Ltd., is engaged in the business of computer components. The following is the
profit and loss account for the A.Y. 2020-21.

Profit & Loss Account _
k4 <

To cost of goods sold 10,00,000 By Sales 14,00,000
To tax relating to LTCG - 3,000 ByLICG - 1,50,000
To Depreciation 85,000 By Interest on Govt. Securities 15,000
To Proposed dividend 1,30,000
To Income Tax 60,000
To Net Profit 2,87,000

15.65.000 15,65.000

[PT.O.
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o’

Additional Information :

a)  Depreciation allowable as per IT Act -¥ 50,000.
b)  Brought forward business loss as per books of accounts is ¥ 1,25,000 and as per IT is
< 1,25,000.
c) Brought forward unabsorbed depreciation is T 55,000 as per IT.
d) Book - Profit is ¥ 1,82,000.
e) LTCGisexemptu/s 10 (38).
Compute :
1) Total Income of the company and tax payable under normal provision.
2) Taxpayableu/s 115-JB.
3) Ultimate Tax liability.

RQ® 0.9.TTO O, E30° WEIINNT w9, TR0 ﬁc%mc".% 2, 20708T0T. &R0 6‘«)2;5@;&333"

o [ou)

3LBOWOSB V.
Optal saw Ebpc]
4 4

To Snoetdmad Aosony 5eg,  10,00,000 By snoews 14,00,000
To LTCGA Sc0x 301 3,000 ByLTCG 1,50,000
To B339 85,000 By =%F0 933,8nvon W& 15,000
To B,mdE eoegeos 1,30,000
To oo 301 60,000
To Q¢ oo 2,87,000

15,65.000 15.65.000
230 BR&END : :

a)  8EacD 301 Facd D BF3 Amee T 50,000.
b)  &00T VRFOOT BoW RFHCH I, FIES Bved T 1,25,000 menie swmwob 307
=,50 < 1,25.000.
c) TRODIRNT Fw® &0 307 %,520 I 55,000
d) @38 w3y T 1,82,000.
e) LTCG cdu/s 10 (38) 503 307 HTocde s,
TOWO HLROWD :
1) FenRg; 0EINEREIDY FOTICD 2683 STROD 5082 07 %R0
2) 115-]B ©50 301 ®59tR0.
3) 080N FoBICD 3ON %E00.




